8.2 CELLULAR RESPIRATION




Understandings:

« Cell respiration involves the oxidation and reduction of electron carriers

» Phosphorylation of molecules makes them less stable

« In glycolysis, glucose is converted to pyruvate in the cytoplasm

« Glycolysis gives a small net gain of ATP without the use of oxygen

« In aerobic cell respiration pyruvate is decarboxylated and oxidised, and converted into acetyl compound and attached to
coenzyme A to form acetyl coenzyme A in the link reaction

« In the Krebs cycle, the oxidation of acetyl groups is coupled to the reduction of hydrogen carriers, liberating carbon dioxide

« Energy released by oxidation reactions is carried to the cristae of the mitochondria by reduced NAD and FAD

« Transfer of electrons between carriers in the electron transport chain in the membrane of the cristae is coupled to proton
pumping

« In chemiosmosis protons diffuse through ATP synthase to generate ATP

« Oxygen is needed to bind with the free protons to maintain the hydrogen gradient, resulting in the formation of water

« The structure of the mitochondrion is adapted to the function it performs
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Phosphorylation reduces activation energy so following
reactions are more likely to occur

https://www.youtube.com/watch?v=XIJvVVCA9RPs
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2.8U3:
Anaerobic cell
respiration gives
a small yield of
ATP from
glucose
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Short, rapid, ATP production is
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Label the structures:

Inter-membrane space

cristae

ribosomes — “inner membrane

outer membrane
naked loops of DNA




3.2.U12



8.2.U11 The structure of the mitochondrion is adapted to the function it performs.
8.2.52 Annotation of a diagram of a mitochondrion to indicate the adaptations to its function.

Label the parts:

not easily visible:
- mDNA

Print this image and calculate:

- magnification
- maximum length
- width of one crista
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